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Math III Name___________________________________

  Period____Date________________
©E I2e0T1m1B 1Kpu3tSaX qSEopfMttwkagrxe4 cL9LvCB.j A MA4l6l c MrCi AgihatksU zryeQsGeargvneUd5.K
Math III - Final Exam Review - Logs and Exponentials

Simplify.  Your answer should contain only positive exponents with no fractional exponents in the
denominator.
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Simplify.  Your answer should contain only positive exponents.
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Evaluate each expression.

11)  log5 25 12)  log4 16

13)  log6 216 14)  log4 64

Use a calculator to approximate each to the nearest thousandth.

15)  ln 2.2 16)  log2.7

17)  log34 18)  ln 9
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Condense each expression to a single logarithm.
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Expand each logarithm.
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Solve each equation.
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Rewrite each equation in exponential form.

34)  log17 17 = 1
35)  log5
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 = −2

36)  log2 8 = 3
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Rewrite each equation in logarithmic form.
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Solve each equation.
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Answers to Math III - Final Exam Review - Logs and Exponentials
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11)  2 12)  2

13)  3 14)  3 15)  0.788 16)  0.431
17)  1.531 18)  2.197
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32)  {1} 33)  {4, −4} 34)  
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40)  {0} 41)  {1} 42)  { All real numbers. }


